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Solving Linear Inequality in Two Variables
Graphically

rglesg 2x—8y = _6:%w£ﬁﬁ¢N|6j?|bS‘Sl;L1

c(lvl) e(oa?’) 9(27_3)

G’LL‘“’ L ;\;(& _I)C)}“Jzﬁb—ggﬂ‘ adasl aulaadl 30T o

:1;
D

x+y<l1 2x+3y=4 S5x—y>-2

-

Y1 5 gradl 3 1Y el sl oSS o
@ x-2y<5 Q@ 6x+4y=-2 @ 5x+7y=<3

O —r>-1 Q- 9y=-6 O 4x-7y<8

3 125 Sl g gl mmn g cpl 8 5kS IS0 5 s sV g sl oSN OV T g oo il 25505501 el @)
50626 ams O 13] 5L 5 (5 i f 58 S o Gl 2 LS oS ol 2 5lS ST

750 35 A1 oo gl aaodl Sl g poms e s s Y Eommy L 58 IS 000 L oy I L Sl e
Joks

dorl . medd Jlus 1.5 Sl g sl s ¢ el O5kus d oY g sl oaas ool b o o0 8 e i liclin. (@)
Ga st 5133200 (e waodl ol 5] 15 Y S 55 IS 0on Ll Kl 15yl sas

S ol 013 el e 831 (50 40K Jaminds ¢ s olis 013 i) iz MUl asle 1018 kg Jond @)
lzwdl53ks 10 1000 KE Jlanzal Lns Sad 15 080155 el Ul 51 sde




Solving System of Linear Inequalities in Two % %

Variables Graphically s
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Probability with Permutations and
Combinations
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Random Variable
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Probability of a Random Variable
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Expected Value of a Random Variable
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